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SCHOLASTIC APTITUDE TEST
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.	� Answers are to be bubbled only on the separate carbonless Answer sheet provided 
to you. After examination detach the carbonless copy from original Answer sheet 
& keep carbonless copy with you till the declaration of result.

2.	� Please write your Center Code & Seat No. very clearly (only one digit in one 
block) on question paper. Before writing your seat no. ascertain it with Hall 
ticket. Please see that no block is left blank or unfilled.

	 Example :

CENTRE CODE 1 1 0 2

SEAT NO. M 3 3 9 2 2 1 1 0 2 1 2 3

3.	 Please ensure that you have received Scholastic Aptitude Test answer sheet.

4.	� Total number of questions are 90 for this paper. All questions carry one mark each.

5.	 All questions are compulsory.

6.	� For each question there are four options given in question paper. Check for the 
correct answer and bubble correct option from four circles given in answer sheet 
by Black/Blue pen. Please do not write any answers on question paper.

7.	 Start answering from first question one after another till the last question.

8.	� If you do not know the answer of any question, do not spend much time on it and 
pass on to the next one. If time permits, you can come back to the questions which 
you have left in the first instance and try them again.

9.	� Utilize the allotted time for solving the questions in best possible way. The rough 
work is to be done in the box given under each page.

10.	� Do not write anything except Center Code, Seat No. and rough work anywhere in 
this booklet



3 of 48NMMS-SAT-21-22 VIII S5

embo¶ j‘Vm MmMUr (Scholastic Aptitude Test)

n[ajmWvgmR>r gyMZm

àíZm§Mr CÎmao Zm|X{dÊ¶mnydu nwT>rb gyMZm H$miOrnyd©H$ dmMm.

1.	� CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì H$m~©Zbog CÎman{ÌH$m XoÊ¶mV Ambobr Amho. Ë¶mdaM Amnbr CÎmao 
Zm|XdmdrV. narjoMr doi g§në¶mZ§Va hr H$m~©Zbog àV ‘yi CÎman{ÌHo$nmgyZ doJir H$ê$Z narjoÀ¶m 
{ZH$mbmn¶ªV ñdV:H$S>o OVZ H$ê$Z R>odmdr.

2.	� Vw‘Mm H|$Ð g§Ho$Vm§H$ Am{U AmgZ H«$‘m§H$ àíZn{ÌHo$À¶m ‘wIn¥ð>mda {Xboë¶m {d{hV {R>H$mUr 
gwñnï>nUo {bhmdm. (EH$m Mm¡H$Q>rV EH$M A§H$ ¶mà‘mUo) ñdV:Mm AmgZ H«$‘m§H$ {b{hÊ¶mnydu 
àdoenÌmZwgma Vmo ~amo~a Agë¶mMr ImÌr H$ê$Z ¿¶mdr. H$moUVmhr aH$mZm [a³V amhUma Zmhr ¶mMr 
XjVm ¿¶mdr.

	 CXmhaUmW© :

CENTRE CODE  H|$Ð g§Ho$Vm§H$ 1 1 0 2

SEAT NO.  AmgZ H«$‘m§H$ M 3 3 9 2 2 1 1 0 2 1 2 3

3.	� Vwåhmbm CÎmao Zm|X{dÊ¶mgmR>r embo¶ j‘Vm MmMUr (Scholastic Aptitude Test) MrM CÎman{ÌH$m 
{‘imbr Amho ¶mMr ImÌr H$amdr.

4.	� gXa {df¶mgmR>r 90 àíZ AmhoV. àË¶oH$ àíZmbm EH$ JwU Amho.

5.	 gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

6.	� àË¶oH$ àíZmÀ¶m CÎmamgmR>r àíZnwpñVHo$‘Ü¶o Mma n¶m©¶ {Xbo AmhoV. Ë¶mn¡H$s Vwåhmbm ¶mo½¶ dmQ>ob 
Ë¶m n¶m©¶mMm H«$‘m§H$ nhm d Ë¶m H«$‘m§H$mMo dVw©i H$mù¶m qH$dm {Zù¶m ~m°bnoZZo a§JdyZ CÎma 
Zm|Xdm. ‘mÌ ho H$m‘ Vw‘À¶m CÎman{ÌHo$da ¶mo½¶ àíZmnwT>o H$amd¶mMo Amho àíZnwpñVHo$da Zmhr.

7.	 n{hë¶m àíZmnmgyZ gwédmV H$ê$Z EH$m‘mJyZ EH$ àíZ gmoS>drV eodQ>n¶ªV àíZ gmoS>dmdoV.

8.	� EImÚm àíZmMo CÎma ¶oV Zgob Va Ë¶mda OmñV doi Kmbdy ZH$m. nwT>Mo àíZ gmoS>{dÊ¶mg ¿¶m. 
gd© àíZ gmoS>dyZ Pmë¶mda Caboë¶m doimV amhÿZ Joboë¶m àíZm§da Vwåhmbm nwÝhm {dMma H$aVm 
¶oB©b.

9.	� àíZ gmoS>{dÊ¶mgmR>r Vwåhmbm {‘iUmam doi {dMmamV KoD$Z Ë¶mMm OmñVrV OmñV Mm§Jë¶màH$mao 
Cn¶moJ H$am. H$ÀMo H$m‘ àíZn{ÌHo$darb àË¶oH$ n¥ð>mda {Xboë¶m [aH$må¶m Mm¡H$Q>rVM H$amdo.

10.	 ¶m àíZnwpñVHo$V H|$Ð g§Ho$Vm§H$, AmgZ H«$‘m§H$ d H$ÀMo H$m‘ ¶mIoarO AÝ¶ H$mhrhr {bhÿ Z¶o.
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001. Which of the following is an unit of temperature __________.

(1)	 calorie			   (2)	 joule

(3)	 erg				    (4)	 kelvin

002. How much will the temperature of 104°F be in Celcius and Kelvin?

(1)	 40°C and 273.15° K		  (2)	 36.9°C and 313.15° K

(3)	 40°C and 313.15° K		  (4)	 36.9°C and 273.15° K

003. Observe the diagram and choose false pair

P Q
O

S

A

U

T

N

(1)	 Seg PQ → Reflective surface	 (2)	 Ray AO → Incident ray

(3)	 Ray ON → Normal		  (4)	 Ray OT → Reflective ray

004. Find odd one out

Polypropylene, Polyester, Polyethylene, Polystyrene

(1)	 Polyester			   (2)	 Polypropylene

(3)	 Polyethylene			   (4)	 Polystyrene
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

001. Imbrbn¡H$s Vmn‘mZmMo EH$H$ H$moUVo?

(1)	 H°$bar				   (2)	 Á¶yb	

(3)	 AJ©				    (4)	 Ho$ëìhrZ

002. 104°F Vmn‘mZmMo gopëgAg d Ho$ëìhrZ loUrV n[a‘mU H$m¶ Agob?

(1)	 40°C Am{U 273.15°K			  (2)	 36.9°C Am{U 313.15°K

(3)	 40°C Am{U 313.15°K			  (4)	 36.9°C Am{U 273.15°K

003. Imbrb AmH¥$VrMo {ZarjU H$ê$Z MwH$sMr OmoS>r AmoiIm.

P Q
O

S

A

U

T

N

(1)	 aofmI§S> PQ - namdV©Z n¥îR>^mJ		 (2)	 {H$aU AO - AmnmVr {H$aU

(3)	 {H$aU ON - ñV§{^H$m			   (4)	 {H$aU OT - namd{V©V {H$aU

004. JQ>mV Z ~gUmam nXmW© AmoiIm.

nm°bràmonrbrZ, nm°brBñQ>a, nm°brBWrbrZ, nm°brñQ>mBarZ

(1)	 nm°brBñQ>a			   (2)	 nm°bràmonrbrZ	

(3)	 nm°brBWrbrZ			   (4)	 nm°brñQ>mBarZ
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005. The pressure exerted on solid by an object depends on __________.

(1)	 weight and contact area of object.

(2)	 mass and contact area of object.

(3)	 contact area of object only.

(4)	 mass of object only.

006. The area of the tip of the screw is 5 cm2 and it’s weight is 0.5 N. Calculate the pressure exerted 

by the screw on a wooden plank.

(1)	 103 N/m2			   (2)	 2 × 103 N/m2

(3)	 0.2 × 103 N/m2			   (4)	 20 × 103 N/m2

007. The potential difference between the two electrode in Lead-Acid cell is __________.

(1)	 20 V				    (2)	 2V

(3)	 1.5 V				   (4)	 0.2 V

008. Among the following which is correct statement about solid.

(1)	 Indefinite volume, definite shape, negligible compressibility.

(2)	 Definite volume, definite shape, negligible compressibility.

(3)	 Definite volume, indefinite shape, very high compressibility.

(4)	 Indefinite volume, indefinite shape, negligible compressibility.
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

005. EImÚm nXmWm©Zo ñWm¶yda bmdbobm Xm~ hm H$moUË¶m ~m~tda Adb§~yZ AgVmo.

(1)	 Ë¶m nXmWm©À¶m dOZmda d g§nH©$ joÌ’$imda

(2)	 Ë¶m nXmWm©À¶m dñVw‘mZmda d g§nH©$ joÌ’$imda

(3)	 Ë¶m nXmWm©À¶m ’$³V g§nH©$ joÌ’$imda

(4)	 Ë¶m nXmWm©À¶m ’$³V dñVw‘mZmda

006. ñH«y$ À¶m Q>moH$mMo joÌ’$i 5 cm2 AgyZ Ë¶mMo dOZ 0.5 N Amho Va ñH«y$ Zo bmH$S>r ’$irda à¶w³V Ho$bobm 

Xm~ H$mT>m.

(1)	 103 N/m2			   (2)	 2 × 103 N/m2	

(3)	 0.2 × 103 N/m2			   (4)	 20 × 103 N/m2	

007. boS>-Amåb {dÚwV KQ>mV XmoZ {dÚwV AJ«m§‘Yrb {d^dm§Va -------- EdT>o AgVo.

(1)	 20 V				   (2)	 2 V

(3)	 1.5 V			   (4)	 0.2 V

008. Imbrbn¡H$s ñWm¶yÀ¶m ~m~VrV H$moUVo {dYmZ gË¶ Amho?

(1)	 A{ZpíMV AmH$ma‘mZ, R>am{dH$ AmH$ma, ZJÊ¶ g§nrS>¶Vm

(2)	 R>am{dH$ AmH$ma‘mZ, R>am{dH$ AmH$ma, ZJÊ¶ g§nrS>¶Vm

(3)	 R>am{dH$ AmH$ma‘mZ, A{ZpíMV AmH$ma, Cƒ g§nrS>¶Vm

(4)	 A{ZpíMV AmH$ma‘mZ, A{ZpíMV AmH$ma, ZJÊ¶ g§nrS>¶Vm
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009. Make correct sequence of observations / conclusion given below in the options related to 

experiment of ‘sound is necessary for propagation of sound.’

(A)	� If the vacuum pump is switched on, with decrease in air level, the level of ringing sound 

heard decreases.

(B)	� When vacuum pump is OFF, the bell jar contains air and key of electric bell is switched 

on then ringing sound can be heard outside the bell jar.

(C)	 To generate sound, medium is needed.

(D)	� If the vacuum pump is operated for sufficiently long period, the quantity of air like 

inside the bell jar will be low. At this point the level of ringing sound also be very low.

(1)	 B, C, D, A			   (2)	 C, D, A, B

(3)	 D, C, A, B			   (4)	 B, A, D, C

010. Function of machine metal detector is based on __________.

(1)	 Electromagnet			   (2)	 Electricity

(3)	 Magnetism			   (4)	 Heat
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

009. "ÜdZrÀ¶m àgmaUmgmR>r ‘mÜ¶‘mMr Amdí¶H$Vm AgVo.' ¶m à¶moJmÀ¶m {ZarjUm§Mm/AUw‘mZm§Mm AMyH$ H«$‘ 

{Xboë¶m n¶m©¶mVyZ {ZdS>m.

A)	� {Zdm©V n§n gwê$ Ho$ë¶mg hdoMo à‘mU H$‘r H$‘r hmoV OmD$Z {dÚwV-K§Q>rÀ¶m AmdmOmMr nmVirhr H$‘r 

H$‘r hmoV OmVo.

B)	� {Zdm©V n§n ~§X AgVm§Zm H$mMoÀ¶m h§S>rV hdm Agob ¶mdoir {dÚwV K§Q>rMr H$i Xm~br AgVm {VMm 

AmdmO h§S>rÀ¶m ~mhoa ¶oB©b.

C)	 ÜdZrÀ¶m {Z{‘©VrgmR>r ‘mÜ¶‘mMr Amdí¶H$Vm AgVo.

D)	� {Zdm©V n§n ~amM doi Mmby R>odë¶mg h§S>rVrb hdm IynM H$‘r hmoB©b ¶m‘wio {dÚwV K§Q>rMm AmdmO 

AË¶§V jrU Agm EoHy$ ¶oB©b.

(1)	 B, C, D, A			   (2)	 C, D, A, B

(3)	 D, C, A, B			   (4)	 B, A, D, C

010. YmVw emoYH$ ¶§ÌmMo H$m¶© H$emda AmYm[aV Amho?

(1)	 {dÚwV Mw§~H$			   (2)	 {dÚwV

(3)	 Mw§~H$				   (4)	 CîUVm
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011. What is the sound level of normal breathing?

(1)	 0 dB				    (2)	 5 dB

(3)	 10 dB			   (4)	 60 dB

012. Rutherford’s nuclear model of atom. Which of the following particles get bombarded with gold 

foil.

(1)	 Helium			   (2)	 Beta

(3)	 Silver			   (4)	 Gamma

013. Indentify the skeleton of Electronic configuration for potassium.

	

	 (1)	 (2)	 (3)	 (4)

014. The given reaction is of formation of ions. Choose correct option for A and B.

P  +  A     P 
B

(1)	 A = 2 e , B = –2			   (2)	 A = 3 e , B = –2

(3)	 A = 2 e , B = –3			   (4)	 A = 3 e , B = –3
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

011. gd©gm‘mÝ¶ ídmgmoÀN²>dmgmÀ¶m ÜdZrMr nmVir {H$Vr AgVo?

(1)	 0 dB				   (2)	 5 dB

(3)	 10 dB			   (4)	 60 dB

012. ê$Xa’$moS>©À¶m H|$ÐH$s¶ AUyàmê$nmZwgma Imbrbn¡H$s H$moUË¶m H$Um§Mm ‘mam gmoÝ¶mÀ¶m nmVi nÍ¶mda Ho$bm 

OmVmo?

(1)	 hobr¶‘			   (2)	 ~rQ>m

(3)	 {gëìha (Mm§Xr)			   (4)	 J°‘m

013. nmoQ>°{e¶‘À¶m Bbo³Q´>m°Z g§ê$nUmMo aoImQ>Z AmoiIm.

	

	 (1)	 (2)	 (3)	 (4)

014. Imbrb g‘rH$aU Am¶Zm§À¶m {Z{‘©VrMo Amho. A Am{U B g§~§YrMo AMyH$ n¶m©¶ {ZdS>m.

P  +  A     P 
B

(1)	 A = 2ē, B = –2			   (2)	 A = 3ē, B = –2	

(3)	 A = 2ē, B = –3			   (4)	 A = 3ē, B = –3
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015. The Famous Historical Monument is prepared by a mixture of carbon, silicon and phosphorous 
mixed in Iron. Identify it.

(1)	 Tajmahal			   (2)	 Statue of Liberty

(3)	 Kutubminar			   (4)	 Golconda Fort

016. Hard water does not form lather with soap. It is because of the following salt.

(1)	 Chloride and sulphate salt of calcium and magnesium

(2)	 Chloride and sulphate salt of calcium and sodium

(3)	 Chloride and sulphate salt of sodium and magnesium

(4)	 Chloride and sulphate salt of magnesium and berillium

017. The given molecule which does not form electrovalent bond is __________.

(1)	 KCl				    (2)	 HCl

(3)	 NaCl				   (4)	 MgCl 2

018. Protein is made up of __________.

(1)	 Amino acid			   (2)	 Carbonic acid

(3)	 Hydrochloric acid		  (4)	 Chlorophyll

019. In Acidity resistant medicines the chemical used is __________.

(1)	 NH 4OH			   (2)	 NaOH

(3)	 Mg (OH) 2			   (4)	 KOH

020. Identify the reversible change in the following process.

(1)	 A meteor  streaking across the sky

(2)	 Melting of wax

(3)	 Ripening of mango

(4)	 Flow of heat from higher temperature to lower temperature
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

015. H$m~©Z, {gbrH$m°Z Am{U ’$m°ñ’$ag ¶m§Mo bmohm‘Ü¶o {‘lU H$ê$Z ~Z{dÊ¶mV Amboë¶m Imbrbn¡H$s à{gÕ 

Eo{Vhm{gH$ dmñVybm AmoiIm.

(1)	 VmO‘hb			   (2)	 ñdmV§Í¶XodVoMm nwVim

(3)	 Hw$Vw~{‘Zma		  	 (4)	 JmobH$m|S>çmMm {H$ëbm

016. Xþî’o$Z nmÊ¶m‘Ü¶o gm~UmMm ’o$g hmoV Zmhr. ¶mMo H$maU ho Imbrbn¡H$s -------- jma Amho.

(1)	 H°$pëeA‘ d ‘°½Zo{eA‘Mo ³bmoamBS> d gë’o$Q> jma

(2)	 H°$pëeA‘ d gmo{S>A‘Mo ³bmoamBS> d gë’o$Q> jma

(3)	 gmoS>rA‘ d ‘°½Zo{eA‘Mo ³bmoamBS> d gë’o$Q> jma

(4)	 ‘°½Zo{eA‘ d ~oarbr¶‘Mo ³bmoamBS> d gë’o$Q> jma

017. {Xboë¶m aoUy§n¡H$s {dÚwV g§¶wO ~§Y {Z‘m©U H$arV ZgUmam aoUy --------

(1)	 KCl				    (2)	 HCl	

(3)	 NaCl				   (4)	 MgCl2

018. à{WZ -------- Zo ~Zbobo AgVo.

(1)	 A°{‘Zmo A°{gS>			   (2)	 H$m~m}{ZH$ A°{gS>	

(3)	 hm¶S´>mo³bmoarH$ A°{gS>			   (4)	 harV Ðì¶

019. Amåb{damoYH$ Am¡fYm§‘Ü¶o -------- agm¶Z dmnaVmV.

(1)	 NH4OH			   (2)	 NaOH	

(3)	 Mg(OH)2			   (4)	 KOH

020. Imbrb à{H«$¶oVrb n[adV©Zr¶ ~Xb AmoiIm.

(1)	 AmH$memVyZ CëH$m nS>Uo	 		

(2)	 ‘oU {dViUo

(3)	 Am§~m {nH$Uo	

(4)	 CîUVoMo OmñV Vmn‘mZmH$Sy>Z H$‘r Vmn‘mZmH$S>o dhZ hmoUo
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021. For the treatment of cancer the medicinal plant used is __________.

(1)	 Adulsa			   (2)	 Cinchona

(3)	 Neem			   (4)	 Periwinkle

022. Copper  ring get corroded by forming a greenish deposition on it. This change is caused by 
__________ gas.

(1)	 H 2				    (2)	 O2

(3)	 CO2				    (4)	 SO2

023. Which of the following Blood group is known as ‘Universal Donar.’

(1)	 A				    (2)	 B

(3)	 AB				    (4)	 O

024. Saliva in mouth contains __________ enzyme.

(1)	 Ptyalin			   (2)	 Maltose

(3)	 Pepsin			   (4)	 Mucous

025. Due to ‘Acid Rain’ which of the following metal indirectly absorbed by plants and thus enters 
food chain.

(1)	 Mercury			   (2)	 Uranium

(3)	 Thorium			   (4)	 Lead

026. Which of the following functional unit of the cell transfers herited traits to next generation.

(1)	 Mitochondria			   (2)	 Endoplasmic Reticulum

(3)	 Gene				   (4)	 Lysosomes
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

021. H°$ÝgaÀ¶m CnMmamgmR>r -------- hr Am¡fYr dZñnVr dmnaVmV.

(1)	 ASw>igm			   (2)	 qgH$moZm	

(3)	 H$Sw>qZ~			   (4)	 gXm’w$br

022. Vm§ã¶mÀ¶m A§JR>rMo jaU hmoD$Z Ë¶mda {hadm bon V¶ma hmoVmo, hm ~Xb -------- ¶m dm¶y‘wio hmoVmo.

(1)	 H2				    (2)	 O2	

(3)	 CO2				    (4)	 SO2

023. gd©¶mo½¶ XmVm H$moUË¶m a³VJQ>mbm åhUVmV?

(1)	 A				    (2)	 B	

(3)	 AB				    (4)	 O

024. Vm|S>mVrb bmioV -------- ZmdmMo {dH$a AgVo.

(1)	 Q>m¶{bZ			   (2)	 ‘mëQ>moO	

(3)	 nopßgZ				   (4)	 å¶yH$g

025. Amåb nO©Ý¶m‘wio AàË¶jnUo nwT>rbn¡H$s H$moUVm YmVy dZñnVt‘Ü¶o emofbm OmD$Z AÝZgmIirV {eaVmo?

(1)	 ‘³¶w©ar				   (2)	 ¶wao{ZA‘	

(3)	 Wmo[aA‘			   (4)	 boS>

026. noerVrb JwUgyÌm§darb H$moUË¶m H$m¶m©Ë‘H$ KQ>H$mÛmao AmZwd§{eH$ JwUm§Mo g§H«$‘U nwT>rb {nT>rH$S>o Ho$bo OmVo?

(1)	 V§VwH${UH$m			   (2)	 Am§VÐ©ì¶Om{bH$m	

(3)	 OZwH$				    (4)	 b¶H$m[aH$m
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027. When in water, frog breathes with __________.

(1)	 nose				    (2)	 cannal

(3)	 lungs				   (4)	 skin

028. Which of the following organelles is found only in plant cell? 
Golgi complex, chloroplast, mitochondria, vacuole.

(1)	 Golgi complex			   (2)	 Chloroplast

(3)	 Mitochondria			   (4)	 Vacuole

029. Which of the following is Fungus.

Algae, Amoeba, Penicillium, Euglena

(1)	 Algae			   (2)	 Amoeba

(3)	 Penicillium			   (4)	 Euglena

030. Identify the scientific instrument shown below.

(1)	 Simple microscope		  (2)	 Compound microscope

(3)	 Telescope			   (4)	 Periscope
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

027. ~oSy>H$ nmÊ¶mV AgVmZm -------- ídgZ H$aVmo.

(1)	 ZmH$mÛmao			   (2)	 H$ëë¶m§Ûmao

(3)	 ’w$ß’w$gmÛmao			   (4)	 ËdMoÛmao

028. nwT>rbn¡H$s H$moUVo noer A§JH$ ’$³V dZñnVr noerVM AgVo?

Jm°ëOrqnS>, h[aVbdH$, V§VwH${UH$m, [ap³VH$m

(1)	 Jm°ëOrqnS>			   (2)	 h[aVbdH$

(3)	 V§VwH${UH$m			   (4)	 [ap³VH$m

029. nwT>rbn¡H$s H$dH$ H$moUVo?

e¡dmb, A{‘~m, no{Z{g{bA‘, ¶wp½bZm

(1)	 e¡dmb				   (2)	 A{‘~m

(3)	 no{Z{g{bA‘			   (4)	 ¶wp½bZm

030. nwT>rb AmH¥$VrVrb d¡km{ZH$ CnH$aU H$moUVo?

(1)	 gmYm gyú‘Xe©H$			   (2)	 g§¶w³V gyú‘Xe©H$

(3)	 Xþ{~©U				   (4)	 n[aXeu
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031. Size of virus is approximately __________.

(1)	 10 µm to 100 µm		  (2)	 1 to 10 µm

(3)	 200 µm			   (4)	 10 nm to 100 nm

032. ‘Elephantiasis’ is caused due to female of __________ mosquito.

(1)	 Anopheles			   (2)	 Culex

(3)	 Aedes aegypti			   (4)	 Den-1

033. Find odd word out of given below.

Earthquake, Tsunami, Drought, Bomb-blast

(1)	 Earthquake			   (2)	 Tsunami

(3)	 Drought			   (4)	 Bomb-blast

034. Find out false statement from given below.

(1)	 Mitochondria prepares energy rich ‘ATP’ compound

(2)	 Vacuoles regulates osmotic pressure of the cell

(3)	 Various colours of flowers and fruits are due to leucoplasts

(4)	 Chloroplast absorbs solar energy and converts it into chemical energy

035. Which of the following blood vessel carries oxygenated blood.

(1)	 Pulmonary vein			   (2)	 Pulmonary Arteri

(3)	 Superior vena cava		  (4)	 Inferior vena cava

036. Whose information we get at Manibhawan in Mumbai?

(1)	 Swatantryaveer Sawarkar	 (2)	 Mahatma Jyotirao Phule

(3)	 Lokmanya Tilak			  (4)	 Mahatma Gandhi
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031. {dfmUy§Mm AmH$ma gw‘mao -------- EdT>m AgVmo.

(1)	 10 µm Vo 100 µm 			   (2)	 1 Vo 10 µm

(3)	 200 µm			   (4)	 10 nm Vo 100 nm

032. hÎmramoJ -------- ¶m S>mgmÀ¶m ‘mXr‘wio hmoVmo.

(1)	 A°Zm{’$brg			   (2)	 ³¶wbo³g	

(3)	 E{S>g B{OßVr			   (4)	 S>oZ - 1

033. nwT>rbn¡H$s doJim eãX AmoiIm.

^yH§$n, ËgwZm‘r, XþîH$mi, ~m°å~ñ’$moQ>

(1)	 ^yH§$n				    (2)	 ËgwZm‘r	

(3)	 XþîH$mi			   (4)	 ~m°å~ñ’$moQ>

034. nwT>rbn¡H$s A¶mo½¶ {dYmZ AmoiIm.

(1)	 V§VwH${UH$m ATP D$Om©g‘¥Õ g§¶wJ V¶ma H$aVmV.

(2)	 [ap³VH$m noerMm namgaUr¶ Xm~ {Z¶§{ÌV R>odVmV.

(3)	 AdU©bdH$m§‘wio ’w$bo, ’$io ¶m§Zm a§J àmßV hmoVmo.

(4)	 h[aVbdHo$ gm¡a D$Om© emofyZ {VMo amgm¶{ZH$ D$O}V ê$nm§Va H$aVmV.

035. nwT>rbn¡H$s Am°p³gOZ¶w³V a³V dmhÿZ ZoUmar a³Vdm{hZr H$moUVr?

(1)	 ’w$ß’w$g{eam			   (2)	 ’w$ß’w$gY‘Zr	

(3)	 CÜd©‘hmera			   (4)	 AYmo‘hmera

036. ‘w§~B© ¶oWrb ‘{U^dZ Aml‘mg ^oQ> {Xë¶mda Amnë¶mbm H$moUË¶m ‘hmZ ì¶p³VÀ¶m B{Vhmgm{df¶r ‘m{hVr 

{‘iVo?

(1)	 ñdmV§Í¶dra {d. Xm. gmdaH$a		  (2)	 ‘hmË‘m Á¶moVramd ’w$bo

(3)	 bmoH$‘mÝ¶ {Q>iH$		  	 (4)	 ‘hmË‘m Jm§Yr
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037. Find out the correct option as per the chronology of events.

(I)	 Prince of Wales, welcomed by organizing Hartal

(II)	 Jallianwala Baug Massacre

(III)	 Supension of Non-cooperation movement

(IV)	 The Swaraj party was established by Indian National Congress

(1)	 II, I, III, IV			   (2)	 III, II, IV, I

(3)	 II, III, IV, I			   (4)	 I, III, IV, II

038. Changes made by the Government of India Act 1858 are given below. Find out the wrong 
statement related to it.

(1)	 It ended the Rule of British East India Company

(2)	 The Voiceroy of India was now designated as The Governer General

(3)	 A new post of secretary of state was created.

(4)	 The Governer General was now designated as The Voiceroy of India.

039. The resolution of Non-cooperation movement put forth by __________ was accepted in The 
Indian National Congress session held at Nagpur.

(1)	 Lala Lajpat Rai			   (2)	 Pandit Jawaharlal Nehru

(3)	 Chittaranjan Das			  (4)	 Motilal Nehru

040. Who sent Sir Stafford Cripps to India to get Co-operation from the Indians, if Japan attacks 
India.

(1)	 Winston Churchill		  (2)	 Ramsaye Macdonnald

(3)	 Lord Burkonhead		  (4)	 Lord Linalithigo
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037. nwT>rb KQ>Zm§Mm ¶mo½¶ H$mbmZwH«$‘ Agbobm n¶m©¶ {bhm.

I)	 {àÝg Am°’$ doëgMo haVmi nmiyZ ‘w§~B©V ñdmJV

II)	 Om{b¶Zdmbm ~mJ hË¶mH$m§S>

III)	 AghH$ma Midi ñW{JV

IV)	 amîQ´>r¶ g^oA§VJ©V ñdamÁ¶ njmMr ñWmnZm

(1)	 II, I, III, IV			   (2)	 III, II, IV, I	

(3)	 II, III, IV, I			   (4)	 I, III, IV, II

038. B. g. 1858 À¶m H$m¶ÚmZwgma Pmbobo ~Xb Imbr {Xbo AmhoV. Ë¶m‘Ü¶o MwH$sÀ¶m {dYmZmMm n¶m©¶ AmoiIyZ 

{bhm.

(1)	 B©ñQ> B§{S>¶m H§$nZrMr amOdQ> ~aImñV Ho$br.

(2)	 ìhmB©gam°¶À¶m EodOr JìhZ©a OZab ho nX {Z‘m©U Ho$bo.

(3)	 ^maV ‘§Ìr ho nX B§½b§S>À¶m emgZmV {Z‘m©U Ho$bo.

(4)	 JìhZ©a OZab EodOr ìhmB©gam°¶ ho nX {Z‘m©U Ho$bo.

039. amîQ´>r¶ g^oÀ¶m ZmJnya ¶oWo ^aboë¶m A{YdoeZmV -------- ¶m§Zr ‘m§S>boë¶m AghH$mamÀ¶m R>amdmbm 

‘§Owar {‘imbr.

(1)	 bmbm bOnVam¶			   (2)	 n§. Odmhabmb Zohé

(3)	 {MÎma§OZ Xmg		  	 (4)	 ‘moVrbmb Zohé

040. OnmZZo ̂ maVmda AmH«$‘U Ho$ë¶mg ̂ maVr¶m§Mo ghH$m¶© {‘idÊ¶mÀ¶m hoVyZo {H«$ßg ¶m§Zm ̂ maVmV H$moUr nmR>dbo?

(1)	 {dÝñQ>Z M{M©b			   (2)	 a°ågo ‘°³S>moZmëS>	

(3)	 bm°S>© ~H©$ZhoS>			   (4)	 bm°S>© {bZm{bWJmo
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041. According to Regulating Act of 1773 who was appointed as The Governor General of Bengal.

(1)	 Lord Wellessly			   (2)	 Lord Cornwallis

(3)	 Lord Warren Hastings		  (4)	 Lord Curzon

042. Observe the Reformer in the picture and choose the event which is related to the respective 
reformer

(1)	 Started Aanath Balikashram at Pune

(2)	 Foundation of work schools at Parel Devenar in Mumbai

(3)	 Leadership accepted of Mulashi Satyagrah

(4)	 Foundation of Mill workers organization

043. Identify the society which had objective of creating love for country. Teach them sacrifice of 
self interest.

(1)	 Servants of India Society	 (2)	 Prarthana Samaj (Society)

(3)	 Aarya Samaj (Society)		 (4)	 Satya Shodhak Samaj

044. Who started the magazine called ‘Somavanshi Mitra.’

(1)	 Gopalbaba Valangkar		  (2)	 Maharshi Vitthal Ramji Shinde

(3)	 Perriyar Rama Swamy Naykar	 (4)	 Shivram Janba Kamble
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041. 1773 À¶m ao½¶wboqQ>J A°³Q>Zwgma ~§JmbMm JìhZ©a OZab åhUyZ H$moUmMr {Z¶w³Vr H$aÊ¶mV Ambr?

(1)	 bm°S>© dobñbr			   (2)	 bm°S>© H$m°Z©dm°{bg	

(3)	 bm°S>© dm°aZ hopñQ>¨½g			   (4)	 bm°S>© H$P©Z

042. {MÌm‘Ü¶o XmI{dbobr ì¶³Vr Imbrbn¡H$s H$moUË¶m KQ>Zoer g§~§{YV Amho?

(1)	 nwÊ¶mV AZmW ~m{bH$ml‘ gwê$ Ho$bm.

(2)	 ‘w§~B©V nai XodZma ^mJmV CÚmoJemim H$mT>ë¶m.

(3)	 ‘wier gË¶mJ«hmMo ZoV¥Ëd Ho$bo.

(4)	 {JaUr H$m‘Jmam§Mr g§KQ>Zm ñWmnZ Ho$br.

043. "bmoH$m§‘Ü¶o OZOmJ¥Vr {Z‘m©U H$ê$Z ñdmW© Ë¶mJmMr {eH$dU XoUo' hm Imbrbn¡H$s H$moUË¶m g‘mOmMm CÔoe 
hmoVm?

(1)	 ^maV godH$ g‘mO			   (2)	 àmW©Zm g‘mO

(3)	 Am¶© g‘mO			   (4)	 gË¶emoYH$ g‘mO

044. "gmo‘d§er¶ {‘Ì' ho ‘m{gH$ H$moUr gwê$ Ho$bo?

(1)	 Jmonmi~m~m db§JH$a			   (2)	 ‘h{f© {dÇ>b am‘Or qeXo

(3)	 no[a¶ma am‘ñdm‘r Zm¶H$a		 	 (4)	 {edam‘ OmZ~m H$m§~io
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045. Who put forth the proposal of Samyukta Maharashtra with Mumbai in the Mumbai Municipal 

Corporation?

(1)	 Aacharya Atre			   (2)	 Senapati Bapat

(3)	 Shankar Rao Dev		  (4)	 S. M. Joshi

046. Shivaji Maharaj appointed the Council and the Heads of various department on the basis of 

their merits and achievements.

Identify the option of wrong pair out of it.

(1)	 Bahirji Naik 	 – Head of the intelligence department

(2)	 Moreshwar Panditrao	 – Dispensing justice

(3)	 Daulat Khan	 – The Chief Naval Commander

(4)	 Hambirrao Mohite	 – Sarnobat of the cavalary

047. Identify the name of the society where Maharshi Vitthal Ramji Shinde served as a member?

(1)	 Aarya Samaj			   (2)	 Satya Shodhak Samaj

(3)	 Prarthana Samaj			  (4)	 Bramho Samaj

048. Identify the period of Century when the European sailors went on expedition to discover sea 

route to India?

(1)	 15th Century			   (2)	 16th Century

(3)	 17th Century			   (4)	 18th Century
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045. ‘w§~B©gh g§¶w³V ‘hmamîQ´>mMm R>amd -------- ¶m§Zr ‘w§~B© ‘hmnm{bHo$V ‘m§S>bm.

(1)	 AmMm¶© AÌo			   (2)	 goZmnVr ~mnQ>	

(3)	 e§H$aamd Xod			   (4)	 Eg.E‘.Omoer

046. {edmOr ‘hmamOm§Zr {d{dY ImË¶m§À¶m à‘wI nXr Zm‘d§V ì¶³VrMr {ZdS> Ho$br hmoVr. Ë¶m‘Yrb MwH$sÀ¶m 

OmoS>rMm n¶m©¶ AmoiIm.

(1)	 ~{hOu ZmB©H$	 -	 hoa ImVo	 		

(2)	 ‘moaoída n§S>rVamd	 -	 Ý¶m¶mYre

(3)	 Xm¡bVImZ	 -	 Ama‘mamMo à‘wI A{YH$mar	

(4)	 h§~raamd ‘mo{hVo	 -	 KmoS>XimMo gaZmo~V

047. ‘h{f© {dÇ>b am‘Or qeXo ho H$moUË¶m g‘mOmMo gXñ¶ hmoVo?

(1)	 Am¶© g‘mO			   (2)	 gË¶emoYH$ g‘mO

(3)	 àmW©Zm g‘mO		  	 (4)	 ~«måhmo g‘mO

048. ¶wamo{n¶ X¶m©dXu ^maVmH$S>o OmUmè¶m Ob‘mJm©Mm emoY KoÊ¶mgmR>r H$moUË¶m eVH$mV gmJar g’$arda {ZKmbo 

hmoVo?

(1)	 15 do eVH$			   (2)	 16 do eVH$	

(3)	 17 do eVH$			   (4)	 18 do eVH$
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049. Who composed a Powada in 1869 CE on Shivaji Maharaj?

(1)	 Lokmanya Tilak			  (2)	 Ravindra Nath Tagore

(3)	 Mahatma Jyotirao Phule	 (4)	 Pitamah Subramanyam Bharati

050. Who subdued the Rohillas, the Jat’s, the Bundellas with the help of his trained army?

(1)	 Malharrao Holkar		  (2)	 Parsoji Bhosale

(3)	 Nana Fadanavis			   (4)	 Mahadji Shinde

051. In which form of government the legislature and executive are not directly dependent on each 

other?

(1)	 Parliamentary			   (2)	 Presidential

(3)	 Socialism			   (4)	 Military Rule

052. __________ members are elected from the constituent states and union territories among the 

total membership of Rajya Sabha.

(1)	 250				    (2)	 12

(3)	 288				    (4)	 238

053. Though India has 29 constituents states, the total numbers of Vidhan Sabha (Legislative 

Assembly) in India are __________.

(1)	 29				    (2)	 30

(3)	 31				    (4)	 32
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049. N>ÌnVr {edmOr ‘hmamOm§da 1869 gmbr H$moUr nmodmS>m {b{hbm?

(1)	 bmoH$‘mÝ¶ {Q>iH$			   (2)	 aqdÐZmW Q>mJmoa	

(3)	 ‘hmË‘m Á¶moVramd ’w$bo			   (4)	 {nVm‘h gw~«‘Ê¶‘ ^maVr

050. H$dm¶Vr ’$m¡OoÀ¶m ~imda amo{hbo, OmQ>, ~w§Xobo ¶m§Zm Z‘dUmao ‘amR>m gaXma H$moU hmoVo?

(1)	 ‘ëhmaamd hmoiH$a			   (2)	 nagmoOr ^mogbo	

(3)	 ZmZm ’$S>Udrg			   (4)	 ‘hmXOr qeXo

051. H$moUË¶m emgZnÕVrV H$m¶Xo‘§S>i d H$m¶©H$mar ‘§S>i WoQ>nUo nañnam§da Adb§~yZ ZgVmV?

(1)	 g§gXr¶			   (2)	 AÜ¶jr¶	

(3)	 g‘mOdmX			   (4)	 bîH$ar amOdQ>

052. amÁ¶g^oÀ¶m EHy$U gXñ¶ g§»¶on¡H$s -------- gXñ¶ {d{dY KQ>H$amÁ¶ Am{U H|$Ðem{gV àXoemVyZ 

{ZdSy>Z ¶oVmV.

(1)	 250				    (2)	 12	

(3)	 288				    (4)	 238

053. ^maVmV 29 KQ>H$amÁ¶o Agbr Var {dYmZg^m§Mr g§»¶m -------- Amho.

(1)	 29				    (2)	 30	

(3)	 31				    (4)	 32
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054. Which law is dealt with the crimes like theft, robbery, dowry, murder etc.?

(1)	 Criminal			   (2)	 Civil

(3)	 Worker			   (4)	 Military

055. The order of the courts commanding the government to perform an action that is it’s duty to 
perform in public interest is called __________.

(1)	 Mandamus			   (2)	 Quo-warranto

(3)	 Prohibition			   (4)	 Habeas Corpus

056. The density of the lower mantle is about __________.

(1)	 2.90 gm / cm3			   (2)	 3.3 gm / cm3

(3)	 5.7 gm / cm3			   (4)	 9.8 gm / cm3

057. __________ clouds are mainly wispy.

(1)	 Cirrus			   (2)	 Cirro - stratus

(3)	 Cirro - cumulus			   (4)	 Alto - stratus

058. Identify the wrong pair.

A) Hot Desert Region –  Camel

B) Taiga Region –  Elks

C) Grass lands –  Kangaroos

D) Tundra Region –  Tse-tse Fly

(1)	 A				    (2)	 B

(3)	 C				    (4)	 D
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054. Mmoar, Ka’$moS>r, hþ§S>çmgmR>r N>i, hË¶m ¶m àH$maMo JwÝho H$moUË¶m H$m¶ÚmÀ¶m AmYmao gmoS>{dbo OmVmV?

(1)	 ’$m¡OXmar			   (2)	 {XdmUr	

(3)	 H$m‘Jma			   (4)	 bîH$ar

055. bmoH${hVmgmR>r emgZmbm EImXr H¥$Vr H$aÊ¶mgmR>r {Xbm OmUmam Ý¶m¶mb¶mMm AmXoe åhUOo --------

(1)	 na‘mXoe			   (2)	 A{YH$man¥ÀN>m	

(3)	 ‘ZmB© hþHy$‘			   (4)	 ~§Xr àË¶jrH$aU

056. {ZåZ àmdaUmMr KZVm -------- Amho.

(1)	 2.90 J«°‘/Kgo‘r			   (2)	 3.3 J«°‘/Kgo‘r	

(3)	 5.7 J«°‘/Kgo‘r			   (4)	 9.8 J«°‘/Kgo‘r

057. H$moUVo T>J ‘w»¶V… V§Vw‘¶ AgVmV?

(1)	 {gag				    (2)	 {gamoñQ´>oQ>g	

(3)	 {gamo³¶wå¶wbg			   (4)	 AëQ>mo-ñQ´>oQ>g

058. A¶mo½¶ OmoS>r AmoiIm.

A)	 CîU dmid§Q>r àXoe	 -	 C§Q>			 

B)	 V¡Jm àXoe	 -	 EëH$

C)	 JdVmi àXoe	 -	 H$m§Jmê$			 

D)	 Qw>§S´>m àXoe	 -	 Ëgo-Ëgo ‘mer

(1)	 A				    (2)	 B	

(3)	 C				    (4)	 D
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059. The world has been divided into __________ time zones.

(1)	 24				    (2)	 15

(3)	 60				    (4)	 4

060. The average depth of the ocean is around __________ meters.

(1)	 3600				    (2)	 8848

(3)	 3700				    (4)	 11034

061. Identify the option of correct pairs.

A - Name of the wind B - Areas of influence

1) Loo A) From the Alps mountain

2) Bora B) Blows in the North Indian plains

3) Chinook C) From the Sahara and Arabian desert

4) Simoom D) From the slopes of Rocky mountain

(1)	 1 – B,  2 – A,  3 – D,  4 – C	 (2)	 1 – A,  2 – B,  3 – C,  4 – D

(3)	 1 – D,  2 – A,  3 – D,  4 – C	 (4)	 1 – B,  2 – C,  3 – A,  4 – D

062. When moon is at the farthest, the position from earth is called __________.

(1)	 Perigee			   (2)	 Apogee

(3)	 Lunar Eclipse			   (4)	 Solar Eclipse



31 of 48NMMS-SAT-21-22 VIII S5

H$ÀÀ¶m H$m‘mgmR>r ’$³V

059. OJmMo -------- H$mb {d^mJ H$aÊ¶mV Ambo AmhoV.

(1)	 24				    (2)	 15	

(3)	 60				    (4)	 4

060. ‘hmgmJam§Mr gamgar Imobr gw‘mao {H$Vr ‘rQ>a Amho?

(1)	 3600				   (2)	 8848	

(3)	 3700				   (4)	 11034

061. ¶mo½¶ OmoS>çm§Mm n¶m©¶ AmoiIm.

A-dmè¶mMo Zmd ~-à^md joÌ

1) by A) Amëng nd©VmÀ¶m CVmamdê$Z

2) ~moam B) CÎma ^maVr¶ ‘¡XmZr àXoe

3) {MZyH$ C) ghmam Am{U Aao{~¶Z dmid§Q>

4) {g‘y‘ D) am°H$s nd©VmÀ¶m nyd© CVmam dê$Z

(1)	 1-B, 2-A, 3-D, 4-C		  (2)	 1-A, 2-B, 3-C, 4-D

(3)	 1-D, 2-A, 3-D, 4-C	 	 (4)	 1-B, 2-C, 3-A, 4-D

062. Ooìhm M§Ð n¥ÏdrnmgyZ OmñVrV OmñV Xÿa AgVmo. Voìhm Vr M§ÐmMr -------- pñWVr AgVo.

(1)	 Cn^y				    (2)	 An^y	

(3)	 M§ÐJ«hU			   (4)	 gy¶©J«hU
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063. At the centre of the earth, the temperature is around __________.

(1)	 2200° C to 2500° C		  (2)	 2500° C to 5000° C

(3)	 5500° C to 6000° C		  (4)	 2000° C to 2200° C

064. Our earth was formed approximately __________ billion years ago.

(1)	 560				    (2)	 260

(3)	 360				    (4)	 460

065. The temperature of the liquid outer core is around __________° C.

(1)	 2500				    (2)	 6000

(3)	 5000				    (4)	 2870

066. Name the landform shown with letter ‘A’ in the given figure.

C

A D
B

(1)	 Marine Trenches			  (2)	 Abyssal Plains

(3)	 Marine Island			   (4)	 Continental Shelf

067. Area wise __________ is the large state in India.

(1)	 Uttar Pradesh			   (2)	 Maharashtra

(3)	 Madhya Pradesh			  (4)	 Rajasthan
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063. n¥ÏdrÀ¶m H|$ÐñWmZr gw‘mao -------- Vo -------- Vmn‘mZ AgVo.

(1)	 2200° go - 2500° go			   (2)	 2500° go - 5000° go

(3)	 5500° go - 6000° go		  	 (4)	 2000° go - 2200° go

064. Amnë¶m n¥ÏdrMr {Z{‘©Vr gw‘mao --------  H$moQ>r dfm©nydu Pmbr.

(1)	 560				    (2)	 260	

(3)	 360				    (4)	 460

065. n¥ÏdrÀ¶m A§Va§JmVrb Ðdén ~mø Jmä¶mMo Vmn‘mZ gw‘mao {H$Vr ° go. Amho?

(1)	 2500				   (2)	 6000	

(3)	 5000				   (4)	 2870

066. Imbrb AmH¥$Vr‘Ü¶o "A' AjamZo Xe©{dboë¶m gmJa ViaMZoÀ¶m ^yAmH$mamMo Zmd AmoiIm.

C

A D
B

(1)	 gmJar JVm©			   (2)	 gmJar ‘¡XmZ	

(3)	 gmJar ~oQ>			   (4)	 ^yI§S> ‘§M

067. ^maVmV joÌ’$imÀ¶m ÑîQ>rZo -------- ho ‘moR>o amÁ¶ Amho.

(1)	 CÎmaàXoe			   (2)	 ‘hmamîQ´>	

(3)	 ‘Ü¶àXoe			   (4)	 amOñWmZ
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068. In the figure of Maharashtra state land use 2010 - 11. Which one is indicated by letter ‘D’.

16.9 %
10.2 %

7.9 %
8.3 %

56.8 %

A

B

C

D

(1)	 Fallow land			   (2)	 Non agriculture land

(3)	 Area under forest		  (4)	 Area under crops

069. Under Corporate Social Responsibility industries are expected to spend atleast __________ of 

their profits on acts benefitting the society.

(1)	 3 %				    (2)	 2 %

(3)	 1%				    (4)	 4%

070. Sverdrup unit is equivalent to __________ million cu.m / seconds discharge.

(1)	 9.8 gm			   (2)	 57

(3)	 106				    (4)	 33

071. Find the difference between smallest natural number and biggest negative Integer?

(1)	 0				    (2)	 1

(3)	 2				    (4)	 8
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068. ‘hmamîQ´> amÁ¶ ^y‘r Cn¶moOZ 2010-2011 AmH¥$Vr‘Yrb D hm gm§Ho$Vm§H$ H$moUVm joÌ Xe©{dVmo?

16.9 %
10.2 %

7.9 %

8.3 %

56.8 %

A

B

C

D

(1)	 nS>rH$ joÌ			   (2)	 {~JaeoVr joÌ

(3)	 dZmImbrb joÌ			   (4)	 bmJdS>r Imbrb joÌ

069. CÚmoJm§Mo gm‘m{OH$ Xm{¶Ëd ¶m A§VJ©V Amnë¶m Zâ¶mVrb H$‘rV-H$‘r {H$Vr Q>³Ho$ a³H$‘ IM© H$amdr?

(1)	 3%				    (2)	 2%	

(3)	 1%				    (4)	 4%

070. EH$ ñdoS´>©n åhUOo -------- KZ‘rQ>a à{VgoH§$X {dgJ© AgVmo.

(1)	 9.8 J«°‘			   (2)	 57	

(3)	 106				    (4)	 33

071. gdm©V bhmZ Z¡g{J©H$ g§»¶m Am{U gdm©V ‘moR>r F$U nwUmªH$ g§»¶m ¶m§À¶mVrb ’$aH$ {H$Vr?

(1)	 0				    (2)	 1	

(3)	 2				    (4)	 8
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072. What is cube root of 24389 ?

(1)	 19				    (2)	 29

(3)	 39				    (4)	 49

073. For a principal ` 10,000 the difference between Compound Interest and Simple Interest for 2 

years is ` 81 Find the rate of interest?

(1)	 ` 8 %				   (2)	 ` 7%

(3)	 ` 9%				   (4)	 ` 10%

074. (x + 9) (x – 7) = ?

(1)	 x 2 + 16x – 63			   (2)	 x 2 + 2x – 63

(3)	 x 2 – 2x – 16			   (4)	 x 2 – 2x – 63

075. A circle with centre O having radius 14 cm is inscribed in a square ABCD. Find the area of 

shaded portion.

A B

D C

PO
14 cm.

(1)	 164 sq. cm			   (2)	 168 sq. cm

(3)	 172 sq.cm			   (4)	 184 sq. cm
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072. 24389 Mo KZ‘yi {H$Vr?

(1)	 19				    (2)	 29	

(3)	 39				    (4)	 49

073. 10,000 én¶o ‘wÔbmMo X.gm.X.eo. H$mhr XamZo 2 dfm©Mo MH«$dmT>ì¶mO Am{U gaiì¶mO ¶mVrb ’$aH$ 81 én¶o 

Amho. Va ì¶mOmMm Xa {H$Vr Agob?

(1)	 ` 8%				   (2)	 ` 7%	

(3)	 ` 9%				   (4)	 ` 10%

074. (x + 9) (x – 7) = {H$Vr ?

(1)	 x2 + 16x – 63			   (2)	 x2 + 2x – 63	

(3)	 x2 – 2x – 16			   (4)	 x2 – 2x – 63

075. Mm¡ag ABCD ‘Ü¶o dVw©i A§V©{b{IV Ho$bobo Amho. ‘O’ H|$Ð Agboë¶m ¶m dVw©imMr {ÌÁ¶m 14 go‘r Amho Va 

aoIm§{H$V ^mJmMo joÌ’$i {H$Vr Vo H$mT>m?
A B

D C

PO
14 cm.

(1)	 164 Mm¡go‘r			   (2)	 168 Mm¡go‘r	

(3)	 172 Mm¡go‘r			   (4)	 184 Mm¡go‘r
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076. If 40 labourers can complete one work in 18 days then 36 labourers can complete the same 

work in how many days?

(1)	 20				    (2)	 21

(3)	 24				    (4)	 26

077. If opposite angles of a parallelogram are (4x – 20)° and (100 – x)° then find the value of x ?

(1)	 5				    (2)	 10

(3)	 15				    (4)	 24

078. One shopkeeper after giving a discount of 15 % sold one saree to customer for ` 1020. Find 

the marked price of saree?

(1)	 ` 1500 			   (2)	 ` 1300

(3)	 ` 1200 			   (4)	 ` 1100 

079. If two sides and angle included by those two sides of one triangle is congruent to corresponding 

two sides and angle included of other triangle.

Then those two triangles are congruent by which test of congruency?

(1)	 A – S – A			   (2)	 S – A – S

(3)	 A – A – S			   (4)	 S – S – S
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076. 40 ‘Oya EH$ H$m‘ 18 {XdgmV nyU© H$aVmV. Va 36 ‘Oya VoM H$m‘ {H$Vr {XdgmV nyU© H$aVrb?

(1)	 20				    (2)	 21	

(3)	 24				    (4)	 26

077. g‘m§Va^wO Mm¡H$moZmÀ¶m g§‘wI H$moZm§Mr ‘mno (4x – 20)° Am{U (100 – x)° AmhoV Va x Mr qH$‘V {H$Vr?

(1)	 5				    (2)	 10	

(3)	 15				    (4)	 24

078. EH$m XþH$mZXmamZo N>mnrb qH$‘Vrda 15% gyQ> XodyZ EH$ gmS>r {JèhmB©H$mg 1020 én¶mg {dH$br Va gmS>rMr 

N>mnrb qH$‘V {H$Vr?

(1)	 1500 `			   (2)	 1300 `	

(3)	 1200 `			   (4)	 1100 `

079. Oa EH$m {ÌH$moUmÀ¶m XmoZ ~mOy d Ë¶m§Zr g‘m{dîQ> Ho$bobm H$moZ ho Xþgè¶m {ÌH$moUmÀ¶m XmoZ g§JV ~mOy Ë¶m§Zr 

g‘m{dîQ> Ho$bobm H$moZ ¶m§À¶mer EH$ê$n AgVmV. Va Vo {ÌH$moU H$moUË¶m H$gmoQ>rZwgma EH$ê$n AgVrb?

(1)	 H$mo - ~m - H$mo			   (2)	 ~m - H$mo - ~m	

(3)	 H$mo - H$mo - ~m			   (4)	 ~m - ~m - ~m
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080. Which is the irrational number from the following?

(1)	 5
3 				    (2)	 .3 142857

(3)	 4 				    (4)	 7

081. Water tank of length 4 m, breadth 3 m and height 1.5 meter is constructed. How much litre 

water the tank can hold?

(1)	 1800				    (2)	 18000

(3)	 1500				    (4)	 15000

082. (x 2 + 17x + 70) ÷ (x + 10) = ?

(1)	 (x + 12)			   (2)	 (x + 7)

(3)	 (x + 14)			   (4)	 (x + 17)

083. 3 years back Ramrao purchased a car for ` 600000. If its rate of depreciation is 10 % per year. 

Find the present value of a car.

(1)	 ` 437400			   (2)	 ` 438400

(3)	 ` 437500			   (4)	 ` 438490

084. A cube is having 6 faces (F) and 12 Edges (E). Find the number of vertices (V) of the cube?

(1)	 10				    (2)	 6

(3)	 8				    (4)	 14
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080. Imbrbn¡H$s An[a‘o¶ g§»¶m H$moUVr?

(1)	 5
3 				    (2)	 .3 142857

(3)	 4 				    (4)	 7

081. 4 ‘rQ>a bm§~, 3 ‘rQ>a é§X d 1.5 ‘rQ>a C§M Agm nmÊ¶mMm hm¡X ~m§Ybm, Va Ë¶m‘Ü¶o {H$Vr {bQ>a nmUr ‘mdob?

(1)	 1800				   (2)	 18000	

(3)	 1500				   (4)	 15000

082. (x2 + 17x + 70) ÷ (x + 10) = {H$Vr?

(1)	 (x + 12)			   (2)	 (x + 7)	

(3)	 (x + 14)			   (4)	 (x + 17)

083. am‘amdmZr VrZ dfm©nydu EH$ H$ma 600000 ` (én¶mg) IaoXr Ho$br Oa Kgmè¶mMm Xa Xadfu 10% Agë¶mg 

Ë¶m H$maMr (JmS>rMr) AmOMr qH$‘V {H$Vr hmoB©b?

(1)	 437400 `			   (2)	 438400 `	

(3)	 437500 `			   (4)	 438490 `

084. EH$m KZmH¥$Vrbm 6 n¥îR>o (F) Am{U 12 H$S>m (E) AmhoV Va Ë¶m KZmH¥$Vrbm {H$Vr {eamoq~Xÿ (V) AmhoV?

(1)	 10				    (2)	 6	

(3)	 8				    (4)	 14
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085. Find the area of an equilateral triangle having side 10 cm.

(1)	 50 3  sq. cm			   (2)	 10 2  sq. cm

(3)	 25 2  sq. cm			   (4)	 25 3  sq. cm

086. What are the factors of m3 + 27 ?

(1)	 (m + 3) (m2 + 3 m + 9)		 (2)	 (m + 3) (m2 + 6 m + 9)

(3)	 (m + 3) (m2 – 3 m + 9)		 (4)	 (m + 3) (m2 – 6 m + 9)

087. In a frequency distribution table if Σ fi Xi = 1740 and N = 25. Find X = ?

(1)	 59.5				    (2)	 69.6

(3)	 17.4				    (4)	 78.5

088.
4 21
2 35

x x
x x
2

2

- -
- -  × 25

2 15
x

x x
2

2

-
- +  = ?

(1)	 1				    (2)	 x + 5

(3)	 x – 3				    (4)	 7
3

x
x +
-^

^ h
h

089.
9

5x 7+  = 3  then x = ?

(1)	 27				    (2)	 4

(3)	 3				    (4)	 9
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085. 10 go‘r. ~mOy AgUmè¶m g‘^wO {ÌH$moUmMo joÌ’$i {H$Vr?

(1)	 50 3  Mm¡go‘r.			   (2)	 10 2  Mm¡go‘r.	

(3)	 25 2  Mm¡go‘r.			   (4)	 25 3  Mm¡go‘r.

086. m3 + 27 Mo Ad¶d Imbrbn¡H$s H$moUVo?

(1)	 (m + 3) (m2 + 3m + 9)			  (2)	 (m + 3) (m2 + 6m + 9)

(3)	 (m + 3) (m2 – 3m + 9)		 	 (4)	 (m + 3) (m2 – 6m + 9)

087. EH$m dma§dmaVm {dVaU gmaUr‘Ü¶o Oa ΣfiXi = 1740 Am{U N = 25 Va X {H$Vr?

(1)	 59.5				    (2)	 69.6	

(3)	 17.4				    (4)	 78.5

088.
4 21
2 35

x x
x x
2

2

- -
- -  × 25

2 15
x

x x
2

2

-
- +  = {H$Vr ?

(1)	 1				    (2)	 x + 5	

(3)	 x – 3				   (4)	 7
3

x
x +
-^

^ h
h

089.
9

5x 7+  = 3 Va x = {H$Vr?

(1)	 27				    (2)	 4

(3)	 3				    (4)	 9
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090. From the information given below find the area of plot PQRST?

Side of square = 60 metre

Hypotenuse of ∆ RST = 61 metre

P Q

T R

S
61 metre

60
 m

et
re

(1)	 3600 sq. m			   (2)	 360 sq. m

(3)	 3660 sq. m			   (4)	 3930 sq. m
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090. Imbr {Xboë¶m ‘m{hVrdê$Z ^yI§S> PQRST Mo joÌ’$i {H$Vr?

Mm¡agmMr ~mOy = 60 ‘rQ>a

∆ RST Mm H$U© = 61 ‘rQ>a
P Q

T R

S
61 metre

60
 m

et
re

(1)	 3600 Mm¡‘r.			   (2)	 360 Mm¡‘r.	

(3)	 3660 Mm¡‘r.			   (4)	 3930 Mm¡‘r.
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